SUBTRACTING UP TO 1 000 000 WITH CARRYING (H - SET 2)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

3 599212 — 86282 =

52 815065 — 660866 =

33 336815 — 67607 =

39 589997 — 92753 =

35935001 — 92708 =

360 937888 — 753869 =

31 815561 — 420544 =

39 494611 — 89798 =

39 849048 — 170978 =

0 444550 — 233986 =

1) 2300613 — 103382 =

12) 933141 — 624506 =

18) 479160 — 375420 =

1) 354266 — 58514 =

15) 396893 — 383859 =

Mathematics: Subtraction - Level 8 - Horizontal - Set 2
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331091 — 264356 =

578393 — 198700 =

782259 — 119898 =

884390 — 572412 =

479575 — 424363 =

502429 — 440228 =

402205 — 6353 =

957845 — 427635 =

853890 — 787635 =

845383 — 118179 =

302514 — 201752 =

472641 — 376573 =

977738 — 303463 =

578451 — 245091 =

641241 — 319454 =
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